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Please check whether you have got the right question paper. .

N.B: 1. Question.No.1is compulsory.
2. Attempt any three from the remaining. -- D e
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Q.1. a) Find the extremal of j'-—=—:£x A ) g T
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b) Is (6,7.—4) a linear combination of v, = (1.2.2)-v, = (3,4,6)
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d) Evaluate j z'dz , along the parahﬂla ey D QR (5)
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Q.2. a) Show that the funct:unal ]’ 42-1}* +k;— iy
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y(0) =0, y[ —] =4 m‘statmnaw‘if x=-sint, y=sinte: F J. (6)
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b) Evaluate 1 by -H-“* 4im ;ﬁ' a >0, b > [}’\ ) (6)
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c) Reduce tﬁgﬂuadraf’t furﬁ x g-— 2 y e m&ﬁ a wgg.u W@xz = 22y tocanonical form and
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and hence find 4~ & 4° (6)

—4——1:1: where Cis |z|=4. (6)
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i{e‘%&fat StanA=Atan3 (6)
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il dues at singular points of = iy (6)
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